
Your NAME ______________________________________ 
Fundamentals of Finite Elements, Test 2, November 26, 2019 

Test is a closed book test. 
Problem 1 (20 pts)   ________     Problem 2 (15 pts) _________ 
Problem 3 (25 pts)   ________     Problem 4 (20 pts) _________ 
Problem 5 (20 pts)   ________     Total (100pts)     ________ 
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PUT YOUR NAME HERE ________________________
Fundamentals of Finite Elements - Exam 2, December 4, 2015

NOTE: QUESTIONS HAVE DIFFERENT NUMBERS OF POINTS ASSIGNED

Problem 1 (15pts) __________ Problem 2 (20pts) __________

Problem 3 (10pts) __________ Problem 4 (20pts) __________

Problem 5 (15pts) __________ Problem 6 (20pts) __________

Total (100pts) __________
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